Unit 3 Lecture 1 Slide 73


The current slide shows an entity called department. The attributes of this entity are: the department number, the department location and the department supervisor.


What attributes can be used to uniquely identify a department instance from another?


The logical UID is the department number.  This assumption implies that this attribute is unique for every instance of the department entity.  Notice that this is the reason why we cannot choose supervisor as the UID.  This will impose unnecessary restrictions in the data.  For instance, if we choose supervisor as the UID this will prevent a person from being a supervisor for more than one department.  However, let us assume for the time being that within the organization this is a valid constraint or restriction.  Even in this case, this restriction imposes another unnatural condition on the data. Assume that we were going to appoint a new supervisor, in this case the first question that we need to ask is "Do we have another supervisor with the same name?"  It seems unreasonable to deny a promotion to supervisor to a person just because there is another supervisor with the same name.

